
https://www.pass2lead.com/clad.html
2024 Latest pass2lead CLAD PDF and VCE dumps Download

 

 

 

CLADQ&As

Certified LabVIEW Associate Developer Examination

Pass NI CLAD Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/clad.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NI Official
Exam Center

 

 

Latest CLAD Dumps | CLAD Practice Test | CLAD Exam Questions                                1 / 3

https://www.pass2lead.com/clad.html
https://www.pass2lead.com/clad.html
https://www.pass2lead.com/clad.html


https://www.pass2lead.com/clad.html
2024 Latest pass2lead CLAD PDF and VCE dumps Download

QUESTION 1

The SubVI is opened and then run three times. 

What is the value of Sum when the VI completes execution? 

A. Indeterminate 

B. 15 

C. 5 

D. 10 

Correct Answer: B 

 

QUESTION 2

To determine the frequency distribution of a signal, the sampling rate must be at least. 

A. greater than ten times the highest frequency in the signal 

B. greater than the highest frequency of the signal 

C. greater than twice the highest frequency in the signal 

D. greater than five times the highest frequency in the signal 

Correct Answer: C 

 

QUESTION 3

Which of the following statements regarding the index of Arrays are NOT true? 

A. The index is used to access a particular element of an Array. 

B. The index ranges from 1 to n. 

C. A 2-D Array has both a column index and a row index. 
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D. The index ranges from 0 to n-1. 

Correct Answer: B 

 

QUESTION 4

Which of the following illustrates an advantage of a global variable over a local variable? 

A. A global variable can pass data between two independent VIs running simultaneously 

B. Only the global variable can pass array data, local variables cannot 

C. Global variables follow the dataflow model, and therefore cannot cause race conditions 

D. Global variables do not require owned labels to operate 

Correct Answer: A 

 

QUESTION 5

What is the value in Shift Register Answer after the following code has executed? 

A. 16 

B. 24 

C. 32 

D. 10 

Correct Answer: C 
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